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GCSE Exam Questions: Ratio to Percentage

1) There is £80 in a pot which is shared between three people.
Alex gets £20, Marcus gets £32 and Ben gets £28

What ratio of the money do they each get?

Give the ratio as percentages.

(2 marks)
2) There are only blue, yellow and green counters in a bag.
The number of blue, yellow and green counters are in the ratio4 : 9 : 7
Work out what percentage of the counters in the bag are green.
(2 marks)
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GCSE Exam Questions: Ratio to Percentage

3) Lewis, Maisie and Oscar each earn the same salary each month.

Lewis saves 26% of his salary and spends the rest.
Maisie spends % of her salary and saves the rest.

The amount of salary Oscar saves to the amount he spends is 3 : 7

Work out who saves the most each month.

You must show how you get your answer.

(3 marks)
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GCSE Exam Questions: Ratio to Percentage Answers
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Question Answer Marks
1) There is £80 in a pot which is shared between 20 32 28 a)
three people. 80 ~ 80 ~ 80
o/ . o/ . 0
Alex gets £20, Marcus gets £32 and Ben gets 25% :40%: 35% M
£28
What ratio of the money do they each get?
Give the ratio as percentages.
2) There are only blue, yellow and green 7
counters in a bag. 4+9+7=20 or 55 @
The number of blue, the number of yellow 20% : 45% : 35%
and the number of green counters are in the
ratio4:9:7. 35% are green @
Work out what percentage of the counters in
the bag are green.
3) Lewis, Maisie and Oscar each earn the same 3
Lewis saves 26% of his salary and spends the % = 30% (Oscar saves 30%) @
rest.
Maisie spends g of her salary and saves the Maisie saves the most each month )
rest.
The amount of salary Oscar saves to the
amount he spends is 3 : 7
Work out who saves the most each month.
You must show how you get your answer.
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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